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7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - 100kN/ m%#B% % - -~ -|3mEi#BZ B -~ -
Fhst 1.00 | 000 ~ 150 2246 | FhLst | 000 ~ 1.50| 2.74 13.87 Fhst 1.00 | 500 ~ 502 22.46 | ThS | .00 ~ 502 2.74 13.87
2 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ 100kN/ m%#B% % -~ -|3m%Ei#BZ B -~
Fhst 100|000 ~ 342 4342 | FnS | 000 ~ 3542| 2.56 12.93 Fhst 1.00 | 500 ~ 830 45.42 | #nS | 500 ~ 830 | 2.56 12.93
3 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ 100kN/m%#B% % ~ -|3m%Ei#BZ B -~
Fhst 100|000 ~ 149 2243 | FhLst | 000 ~ 1.49| 2.74 13.87 Fhst 1.00 | 500 ~ 502 2243 | TS | .00 ~ 502 2.74 13.87
4 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ 100kN/m%#B% % ~ -|3m%Ei#BZ B -~
Fhst 1.00 | 000 ~ 608 76.20 | FhLS | 0.00 ~ 0.00)| 1.75 886 Fhst 1.00 | 500 ~ 696 76.20 | TS | 5,00 ~ 696 1.75 886
5 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ 100kN/m%#B% % ~ -|3m%Ei#BZ B -~
Fhst 100|000 ~ 643 80.96 | #nst | 0.00 ~ 0.00| 1.60 807 Fhst 1.00 | 500 ~ 817 80.96 | #nst | 5,00 ~ 817 | 1.60 807
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ 100kN/m#%#B% % ~ -|3mEi#BZ B -~
Fhst 100|000 ~ 576 72.03 | FhLS | 000 ~ 576 1.91 9.66 Fhst 100|500 ~ 685 72.03 | TS | .00 ~ 685 1.91 9.66
- 100kN/m%E#BZ5| 100|000 ~ 072 110.76 |3mEBZS ~ 100kN/m%E#B%2% | 1.00 | 11.34 ~ 1351 110.76 |3mZ#EZ 5 -~
Fhst 100|072 ~ 851 100.00 | #hust | 0.00 ~ 851|240 12.13 Fhst 1.00 | 5.00 ~ 1134 100.00 | Thst | 600 ~ 1351|240 12.13
P 100kN/m%E#8z5 | 1.00 | 000 ~ 027 10394 |3mEBz% ~ 100kN/mM%E#BZ5 | 1.00 | 11.5656 ~ 1231 105.94 |3m%EiBZ B -~
Fhst 1.00 027 ~ 805| 100.00| FhLst | 000 ~ 805|243 12.26 Fhst 1.00 | 5.00 ~ 1155 100.00 | Thst | 600 ~ 1251|245 12.26
9 100kN/ Mm% 5 - -~ - -|3mEBZD ~ 100kN/m%#B% % ~ -|3mEi#BZ B -~
Fhst 100|000 ~ 770 98.83 | #nst | 000 ~ 7.70| 2.01 10.16 Fhst 1.00 | 500 ~ 1112 98.83 | #nst | 5,00 ~ 1112|201 10.16
10 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ 100kN/m#%#B% % ~ -|3mEi#BZ B -~
Fhst 100|000 ~ 766 9818 | #hst | 000 ~ 766|222 11.24 Fhst 1.00 | 5.00 ~ 1024 9818 | Fhst | 500 ~ 1024 2.22 11.24
11 100kN/m%E#BZ5| 1.00| 000 ~ 062 109.15 |3mEHEBZD ~ 100kN/mM&#z25 | 1.00 | 11.04 ~ 1309| 109.15 |3mZE#BZ5 -~
Fhst 1.00 062 ~ 840 100.00| FhLs | 000 ~ 840 2.04 10.33 Fhst 1.00 | 500 ~ 1104 100.00 | FhS | 500 ~ 1309 2.04 10.33
12 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ 100kN/ m%#B% % ~ -|3m%Ei#BZ B -~
Fhst 100|000 ~ 754 96.47 | FhS | 000 ~ 754|229 11.57 Fhst 1.00 | 500 ~ 1012 96.47 | FhSt | 500 ~ 1012 2.29 11.57
13 100kN/mM%E#BZ 5 - -~ - -|3mEBZD ~ 100kN/m%#B% % ~ -|3mEi#BZ B -~
Fhst 1.00 | 000 ~ 740 94.49 | FhS | 000 ~ 000|172 8.69 Fhst 1.00 | 500 ~ 9.66 94.49 | #nLS | 500 ~ 9.66 | 1.72 8.69
14 100kN/mM%BZ 5 - -~ - -|3mEBZD ~ 100kN/ m%#B% % ~ -|3mEi#BZ B -~
Fhst 1.00 | 000 ~ 630 79.12 | FnLS | 0.00 ~ 0.00| 1.59 8.04 Fhst 1.00 | 500 ~ 793 79.12 | TS | 6,00 ~ 7.93| 1.59 8.04
15 100kN/m%E#BZ5| 100|000 ~ 095 11432 |3mEBZD ~ 100kN/mM%&#z25 | 1.00 | 10.73 ~ 1386 114.32 |3mZE#BzZ5b -~
Fhst 100|095 ~ 874 100.00| Ths | 000 ~ 874| 2.09 10.59 ZFhLst 1.00 | 500 ~ 1073 100.00 | Thst | 500 ~ 1386| 2.09 10.69
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16 100kN/m%E#8z%5 | 1.00 | 000 ~ 063 109.36 |3mEiBz% -~ - - -] 100kN/ %825 | 1.00 | 11.01 ~ 1281 109.36 |3mZE#EZ B -~ -
s 1.00 | 0.63 ~ 841 100.00 | =nlhst | 0.00 ~ 841 | 2.35 11.87 st 1.00 | 6.00 ~ 1101 100.00 | =nst | 6.00 ~ 1281] 2.85 11.87
17 100kN/m%E#8z5 | 1.00 | 000 ~ 1.02| 11530 |3mEiBz% -~ - - -] 100kN/mZ#8z5 | 1.00 | 10.74 ~ 14.14| 11530 |3mZE#BZ5 -~
s 1.00 | 1.02 ~ 880 100.00 | #=nlhst | 0.00 ~ 880 | 2.09 10.67 st 1.00 | .00 ~ 10.74 100.00 | =nst | 6.00 ~ 1414 2.09 10.67
18 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
s 1.00 | 0.00 ~ 7.19 91.39 | =St | 0.00 ~ 0.00 | 1.69 852 st 1.00 | 6.00 ~ 927 91.39 | =h4 | 5,00 ~ 927 | 1.69 8.62
19 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
s 1.00 | 0.00 ~ 6.99 8867 | #nS | 000 ~ 0.00| 1.57 7.93 st 1.00 | .00 ~ 992 88.67 | =hLS | .00 ~ 9.92| 1.57 7.93
2 100kN/m%E#BZ5 | 1.00| 000 ~ 086 112.87 |3mEEZS -~ - - -] 100kN/mM%i#82% | 1.00 | 10.568 ~ 1321 112.87 |3m%Ei#BZ D -~
s 1.00 | 0.86 ~ 865 100.00 | =nst | 000 ~ 865|214 10.81 st 1.00 | 6.00 ~ 1058 100.00 | =nLSy | 6,00 ~ 1321| 2.14 10.81
21 100kN/m%E#BZ5| 1.00 000 ~ 090 11347 |3mEBZD -~ - - -] 100kN/mM%z#B25 | 1.00 | 10564 ~ 1319 11347 |3m%EiBz% -~
s 1.00 | 090 ~ 868 100.00 | =St | 0.00 ~ 868 | 2.21 11.15 st 1.00 | 6.00 ~ 1054 100.00 | =nhst | 6.00 ~ 1319| 2.21 11.15
29 100kN/m%E#BZ5| 100|000 ~ 096 11438 |3mEHEZD -~ - - -] 100kN/ %825 | 1.00 | 1065 ~ 1348 114.38 |3m%EiBz% -~
s 1.00 | 096 ~ 874 100.00 | =St | 000 ~ 874 | 2.27 11.46 st 1.00 | 6.00 ~ 10.65 100.00 | =nLSy | 6,00 ~ 1348) 2.27 11.46
23 100kN/m%E#8z5 | 1.00 | 000 ~ 1.12| 116.93 |3mEiBz% -~ - - -] 100kN/mZ#8z5 | 1.00 | 1098 ~ 14.46| 116.93 |3mZE#BZ5 -~
s 1.00 | 1.12 ~ 891 100.00 | =nst | 0.00 ~ 891 | 2.54 11.85 st 1.00 | 6.00 ~ 10.98 100.00 | =nLSY | 6,00 ~ 1446| 2.54 11.85
24 100kN/m%E#8z5 | 1.00 | 000 ~ 036 10529 |3m&EiBz% -~ - - -] 100kN/mMZ#B25 | 1.00 | 11.33 ~ 1235 10529 |3m%EiBz% -~
s 1.00 | 0.36 ~ 814 100.00 | =nst | 0.00 ~ 814 | 2.40 1212 st 1.00 | 6.00 ~ 1133 100.00 | =nst | 6.00 ~ 1235| 2.40 1212
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
zhst ~ ZFhst ~ Fhst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%E#BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMEBZD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
zhst ~ ZFhst ~ Fhst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
zhst ~ FhLst ~ ZFhLst ~ st ~




